

Coherent states for Fermionic oscillators [Works only for Dirac fermions]

$$\{\hat{\psi}, \hat{\psi}^\dagger\} = \frac{1}{2} \quad \{\hat{\psi}, \hat{\psi}\} = \{\hat{\psi}^\dagger, \hat{\psi}^\dagger\} = 0.$$

Convenient to normalize $\hat{\psi} = \sqrt{\frac{1}{2}} \hat{c}$, so that:

$$\{\hat{c}, \hat{c}^\dagger\} = 1 \quad \text{and} \quad \{\hat{c}, \hat{c}\} = \{\hat{c}^\dagger, \hat{c}^\dagger\} = 0. \quad (\text{so } \hat{c} \text{ \& } \hat{c}^\dagger \text{ are unitless})$$

— can be represented on a 2-dimensional Hilbert space = span $\{|0\rangle, |1\rangle\}$:

$$\hat{c} \equiv \begin{pmatrix} \langle 0|\hat{c}|0\rangle & \langle 0|\hat{c}|1\rangle \\ \langle 1|\hat{c}|0\rangle & \langle 1|\hat{c}|1\rangle \end{pmatrix} = \begin{pmatrix} 0 & 1 \\ 0 & 0 \end{pmatrix} \quad \text{"annihilation operator"} \quad \hat{c}|0\rangle = 0.$$

$$\hat{c}^\dagger \equiv \begin{pmatrix} \langle 0|\hat{c}^\dagger|0\rangle & \langle 0|\hat{c}^\dagger|1\rangle \\ \langle 1|\hat{c}^\dagger|0\rangle & \langle 1|\hat{c}^\dagger|1\rangle \end{pmatrix} = \begin{pmatrix} 0 & 0 \\ 1 & 0 \end{pmatrix} \quad \text{"creation operator"} \quad \hat{c}^\dagger|0\rangle = |1\rangle$$

Define coherent state:

Phase is a Grassmann odd number

(anticommutates with \hat{c} & \hat{c}^\dagger)

$$|\xi\rangle = e^{\hat{c}^\dagger \xi} |0\rangle = (1 + \hat{c}^\dagger \xi) |0\rangle = |0\rangle + \xi |1\rangle = |0\rangle + |1\rangle \xi.$$

c.c.

$$\langle \xi| = \langle 0| e^{\xi^* \hat{c}} = \langle 0| (1 + \xi^* \hat{c}) = \langle 0| - \langle 1| \xi^* = \langle 0| + \xi^* \langle 1|$$

Properties:

① Eigenstate of annihilation operator: (fixes the order in exponent $e^{\hat{c}^\dagger \xi}$)

$$\hat{c} |\xi\rangle = \xi |\xi\rangle$$

proof: $\hat{c} (|0\rangle + |1\rangle \xi)$ (First term of $|\xi\rangle$)

$$= 0 - |0\rangle \xi$$

$$= \xi |0\rangle$$

$$= \xi (|0\rangle - |1\rangle \xi) \quad (\text{because } \xi^2 = 0)$$

$$= \xi |\xi\rangle.$$

② Overlap

$$\langle \xi | \xi \rangle = e^{\xi^* \xi}$$

proof: $\Rightarrow \left(\langle 0 | + \xi^* \langle 1 | \right) \left(| 0 \rangle + | 1 \rangle \xi \right)$

$$= (1 + \xi^* \xi)$$

$$= e^{\xi^* \xi} \quad \checkmark$$

Not orthogonal

③ Resolution of identity

$$\hat{1} = \int d\xi^* d\xi e^{-\xi^* \xi} |\xi\rangle \langle \xi|$$

proof: $\int d\xi^* d\xi (1 - \xi^* \xi) (|0\rangle + |1\rangle \xi) (\langle 0| + \xi^* \langle 1|)$

$$= \int d\xi^* d\xi (1 - \xi^* \xi) (|0\rangle \langle 0| + \xi^* |0\rangle \langle 1| + |1\rangle \langle 0| \xi + |1\rangle \xi \xi^* \langle 1|)$$

$$= \int d\xi^* d\xi \left(|0\rangle \langle 0| + \xi^* |0\rangle \langle 1| + |1\rangle \langle 0| \xi - \xi^* \xi |1\rangle \langle 1| - \xi^* \xi |0\rangle \langle 0| \right)$$

integrates to zero.

$$= \int d\xi^* d\xi \underbrace{(-\xi^* \xi)}_{=1} (|0\rangle \langle 0| + |1\rangle \langle 1|) \quad \checkmark$$

④ Trace:

$$\text{Tr } \hat{A} = \int d\xi^* d\xi e^{-\xi^* \xi} \langle -\xi | \hat{A} | \xi \rangle$$

proof: $\int d\xi^* d\xi (1 - \xi^* \xi) (\langle 0 | - \xi^* \langle 1 |) \hat{A} (| 0 \rangle + | 1 \rangle \xi)$

$$= \int d\xi^* d\xi (1 - \xi^* \xi) (\langle 0 | \hat{A} | 0 \rangle + \langle 0 | \hat{A} | 1 \rangle \xi - \xi^* \langle 1 | \hat{A} | 0 \rangle - \xi^* \langle 1 | \hat{A} | 1 \rangle \xi)$$

$$= \int d\xi^* d\xi \left(\underbrace{\dots}_{\text{integrates to zero}} - \xi^* \xi \langle 1 | \hat{A} | 1 \rangle - \xi^* \xi \langle 0 | \hat{A} | 0 \rangle \right)$$

$$= \int d\xi^* d\xi \underbrace{(-\xi^* \xi)}_1 (\langle 0 | \hat{A} | 0 \rangle + \langle 1 | \hat{A} | 1 \rangle) \quad \checkmark$$

⑤ Supertrace:

Recall definition: $\text{STr}(\hat{A}) = \text{Tr} [(-1)^{\hat{F}} \hat{A}]$ $\hat{F} = \text{fermion parity.}$

$$\text{STr} \hat{A} = \int d\bar{\xi} d\xi e^{-\bar{\xi} \xi} \langle +\xi | \hat{A} | \xi \rangle$$

proof: identical to ④, with change $(- \rightarrow +)$

⋮

$$= \int d\bar{\xi} d\xi \underbrace{(-\bar{\xi} \xi)}_{+1} (\langle 0 | \hat{A} | 0 \rangle - \langle 1 | \hat{A} | 1 \rangle) \quad \checkmark$$